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Introduction
At the last RAN3#111 and #112 meetings, the issue of SRVCC from 4g to 3g and PS handover from 4g to 3g were discussed together with SA2. 
The issue 2 of SRVCC from 4g to 3g was initially discussed at RAN3#111, then LS was sent to SA2 in [2] asking SA2 to investigate how we can solve the problem, then it was reported as solved by SA2 in the LS [3]. In this LS SA2 attached the solution CR for TS 23.216 in [4].
The issue 1 was discussed at last RAN3#112, also discussed in SA2, and pending RAN3 conclusion as per last summary of discussions reported in chairman’s notes:

Issue 1: PS bearers originally set up at 5G and be handed over to 4G, may not be able to be handed over from
4G to 2G/3G or vice versa.
Solution: MME indicated to eNB if the E-RAB can be handed over to 2G/3G or 5G.
Issue 2: Handle the SRVCC failure 5G->4G (IMS added)->(SRVCC) 3G. SA2 has included the Note in TS
23.216 on how to handle it.

This paper provides our analysis of the pending issue 1.

Discussion 
Issue 1 and issue 2 have the same root cause of a 4g PS E-RAB that was originated in 5g then moved to 4g.
In this case the TI field does not exist for the E-RAB. This field is however mandatory to be sent by SGSN in the Forward Relocation Request from 4g to 3g.

The issue 2 concerns SRVCC and was first discussed at RAN3#111 in [5]. It was reported in [5] that SRVCC would fail because the target RNC would first receive the RANAP Relocation Request from MSC then could wait until failure a RANAP Relocation Request from SGSN that will never come. The issue was then sent by RAN3 to SA2 in [2]. It was then solved by SA2 by a note in TS 23.216 stating that the source eNB can simply be configured to always trigger “CS-only SRVCC” (see [3], [4]). In that case, the target RNC expects only the RANAP Relocation Request from the MSC with a “number of Iu instances” set to 1. Therefore, target RNC will not wait infinitely for relocation of PS E-RABs.

Observation 1: the issue 2 of SRVCC was already solved by SA2 at last meeting.

The issue 1 concerns PS handover and SA2 already commented that the SGSN may not include in the Forward Relocation Request the E-RABs for which the MME has no TI available. On the target 3g side, after RNC receives the RANAP Relocation Request, the target SGSN will resync with the UE and release the PDN connection corresponding to the non-received E-RAB(s).
SA2 already concluded that implementations can therefore solve the problem accordingly without standards impact.
In contrast, newly introducing a new IE from MME to eNB to indicate that an E-RAB has no TI would simply propagate the problem further to impact legacy eNB(s). That would thus impact both MME and eNB which is clearly not desirable.

Observation 2: Issue 1 can be solved by implementations without standards impact and without eNB impact as discussed in SA2.

From observations 1 and 2 above we conclude that both issues are now be solved without any further impact.

Proposal 1: close the issues of “E-RABs cannot be handed-over” without any further impact as per the above conclusions.


Conclusion and Proposal
This paper has reminded that issue 2 has been solved by SA2 CR and issue 1 can be solved by implementations as discussed in SA2. Therefore, no further impact is foreseen.

Proposal 1: close the issues of “E-RABs cannot be handed-over” without any further impact as per the above conclusions.
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